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[image: image1.png][4] lg(x + V3)+1g(x — V3) = 0.

[4] log, (x — 2) + log,(x — 8) = 1.

[4] 1g(x2 - 9) — 1g(x — 8) = 0.

[4] logg (x — 1) — logg (2x — 11) = log, 2.
[5] log; (2x2 — Tx + 6) — log,(x — 2) = log, x.
[5] log, (x3 — x) — log, x = log, 3.
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[image: image4.png](6] llg(x2 + x-5)= lg(5x)+lgi.
[7] log, (x — 1)+210g9(17+x)—7+log19
[8] log; x + log /7 x - loglx—6
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      [image: image6.png][5] log,3 log; log, (x2 + 2x) =0.
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      [image: image9.png][6] 2log,x — 5log, 2 = 3.
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	1. РЕШИТЕ     УРАВНЕНИЯ:

[image: image14.png][ lg(x - 1) +1g(x + 1) = 0.

(4] logs(5 — x) + logz (-1 — x) = 3.
[4] logs (x2 — 4) — logg(x — 2) = 0.
(4] In(8x — 1) — In(x + 5) = In 5.
5] log,; (2x2 — 9x + 5) — log,; x = log,, (x — 3).
5] log, (x® + x) — logs x = log; 10.
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[image: image17.png][6] %lg(xz — 4x—1) = lg(8x) - lg(4x).
log, (x + 1) + 2log,(x + 5) = 8 + log, 8.
210g5x+logﬁx—loglx=8. i
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[5] logg 5 log,logs (22 + 3x — 1) = 0.

[4] log2 , x +logg 5 x — 6 = 0.
4] log2(x — 3)+ log,(x —3)= 2.
9 2




     [image: image18.png]3log,x = 2log; x.




     [image: image19.png][6] 3loggx + 210g, 9 = 5.
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42+ x - 5= 0.
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